120

FEE 1/60

90 90
230 21235 2123,5 230 2|8
A=k 99K F=5100 .
i tal A= 992
AN -5V RS T i%=4887 (Blig) 200
o= 992A ThIFAR m{t&E 55FF
A FIACI00V N J 4 | |
1" 6x2qf S =
(1481 ey g
150 150
256,5 | /iﬂtﬂiﬁl | 256,5
———————————————————————————— F==—1 R
S
) /|
s
80 4427 80 A=
4587
0. 75x4¢
° ¢ 28. 62F-In 47 8
SMEIE 1/60 BRER 1/60
] 200
& 13
Ift&E
~59E° UL A
70 23
!
GERAILAS—EHRAHBEIR A v F .
D
| |
_ s
== — o
AC100V = TIIRAR I ]
" :
|
iE] ! :
A4 YF & ih\=- -
COM
Los, B ! YU-F 993
B )
H R FEMED 1/6 Py
N4

Hh SYFHRITA L (W) BF& HES 1EINDT-EY V7" b-b (ZE—EKD4})
E—42— [O—5—HNEE HA2W E—F2—F&KEGR 1.70A A RGEE, v b2
x| HEC TS FIvar | T4vLRAYEIY
&M FIIAB2H YT —
=R |ACI00V 50/60Hz Ts = ", 2 9FE s
= DC5V BRTE f?%ﬂﬁg/ﬂi?jfzﬂﬁ\ 2RBNEL) . MyFH 9hR
BE 40Kg
E [=]
B . o A4 1/60 1/6 200/ 0FEENE LAYY-Y (KIRFH16:974-7y})
D-ai HREUFATomE e 2% oor-moao0 | N




